mizEs SRS M R T SRR T

# 7 1B - Rkt B ¥ & B £ #® wE

EIEEE - 7,967, 400"+ 169, 044" 8,136, 444"
ERAGER 7, 967, 400
EEER G 169, 04{
ORI - 7,967, 400° X 53.85% ( 35% =+ (17— 35%') ) 4, 290, 44{
EBRME 8, 136, 444+ 4, 290, 444~ \ 12, 426, 888
—BEERS 12,426,888 X 53.85% ( 35% = (1 — 35%°) ) — 8767 6683, 112!

EBEE - 12, 426, 888"+ 6,683, 112 - 19,110, 0007 _
HEABSHERE 19,110, 000° X 10.00% - 1,911, 000
EBERM 19,110,000 + 1,911,000 - 21, 021, 000°




BMERNRE

BB ROMB A BT A R
% 0 8% - Tk Y] 4 8 B & ®
B - 8, 136, 444
HE - R - BREEE 8, 136, 444
I AReAER 8, 136, 444
HEER TN A
sEEmc T 433, 500
1 SHEHER 1. 00" 433,500 433, 500
. it -
BRI RS 270, 700
ARINERE - 270, 700
? GEINERE . 1. 06 270, 700 270, 700
HE (5—2R)
HbHEE 207, 400°
RipEE" 207, 400
3 BEEE - 1.00 207, 400 207, 400°
g
I A EORE 6, 019, 9007
BHEH T BB 2, 496, 300
i E&BOEE " ) 3.00 222, 3007 666, 900"
BEE (r—2) )
5 erEOEE " . 3.00 353, 900 1, 061, 700
B (5F—X)
§ EEOmE" » 3. 00° 255, 900 767, 700
EE (5—2)
Tk REFELREOKRE 1,829, 400
1




RENRE S FE AR S T T A iR

B # ik - Rk By 5 82 B {H & ® B B
T ERO®RE - 3.00 353, 900 1, 061, 700"
BHE (5—-2)
8 EROBE 3.00 255, 9000 767, 706"
BHE (r—2)
fRy FEIEHROHE - 252, 300
I BIABERET _ 1.00 252, 300 252, 300"
BEE (5—2)
PR FEETHE AR B OR 1, 441, 900"
NEZET 2 1.00 222, 300 222, 3007
HE (5—2)
11 stEome" 2,00’ 353, 900" 707, 800
HE (5—2X) :
12 BREOZE" 2.00 255, 900 511, 8007
EE (5-2)
REH 472, 900°
BREH 472, 900°
3 HEERR" ' 1.00 453, 7007 453, 7007
it N ) .
14 AEBRERER - ) 1.00 19, 200 19, 200
Et 2
TaehE- 563, 000
TaemE 563, 000
15 EailnE 1.00 121, 800 121, 800
5 -
""""" 16 RIS - 2.00" 121, 800 243, 6007
-
17 BEgE 1.00 197, 600 197, 600
m
EEEE - 169, 044




o5 35 T BRSBTSt S 27

BENRE
% i B - ok~ BT & ] e

BREALE 74, 044°
18 BEHRE _ 1.00 74, 044 74,0447

o Et ‘
BE - 95, 000
10 EERESR 1.00 95, 000 95, 000"

. it :




Rz -FET/\vr—2

o5 5 (T BB S SRS T R T

BE2:1" .
275 SHEER 134y
2 zfr\ BiE - TR ) B B fE s m ;f%s W =
e . o N :
. A 1. 00 75, 800. 00 75, 800
R (e - " . : :
A 1. 50 64, 800. 00 97, 200
BE (A) 3 B} . .
A 250 57, 000. 00 142, 500
B (B) : - . .
) A 250 47, 200. 00 118, 000
& Yege R« 1002t 433, 500. 00 433, 500
B82.2° . )
S CERMREZE 1EE (5—2) HY°
£, m i - kTR B & g @ 2 @ }r%s B =
B (A) ‘ : o ;
A 1.50 57, 000. 00 85, 500
B (B) " » § - .
A 2. 50 47, 200. 00 118, 000
HihE g . N
A 2.00 33, 600. 00 87, 200
& 3 fegesEs - 1 00IBE (5—2R) 270, 700. 00 270, 700
B5:3 . _
gy wmeEE ‘ B:EDE
Z 7 B - AT Ty B B 0E s & }& " =
TR (R , : - S
Al .00 64, 800. 00 64, 800
B (A) . - .
A 1. 00 57, 000. 00 57, 000
B (B) . . .
A 1. 00 47, 200. 00 47, 200
B (C) : . o .
A 1,00 38, 400. 00 38, 400
€ % YEgRES S 1.008 207, 400. 00 207, 400




RER-FET/ N —2

255 (T S M MR M 1 S T T 5 SR S

B84 .
L RHOBRE 1R (5—2) %Y
P2 # B - PR B & R s @ o=
EEERE G . o :
A 1. 00 64, 800. 00 64, 800
BET (A) " . . - .
A 1.50 57, 000. 00 85, 500
%5 (C) - 5 . :
] AT 1.00 38, 400. 00 38, 400
RWE - - » :
A 1. 00 33, 600. 00 33, 600
& % Vet - 1 00TEE (5—2)° 222, 300, 00 222, 300
BE.5 " ) .
2 : SHEORE 1B (5—2) %Y
% i B - AT E T & @ s @ % =
R @ : : - T
A 1,50 64, 800. 00 97, 200
e (A)" ‘ : = .
A 1.50 57, 000. 00 85, 500
%EF (B , . -
,,,,,,,,,,,,,,,,,,,,,,,,,,, A 2.00 47, 200. 00 94, 400
®E (C)° ) , C
| A 2,00 38, 400. 00 76, 800
& fegheS 1. 00EE (5—32) 353, 900. 00 353, 900
BS:6 ,
N A 1588 (5—2) %Y
% # e BRI T g & 1@ & @ % =
EEIRER (RE - 3 - g
A 1.00 64, 800. 00 64, 800
BE (A) : : - .
A 1.50 57, 000. 00 85, 500
®EF (C)- » . o
,,,,,,,,,, A 1.00 38, 400,00 38, 400
A - . - :
A 2,00 33, 600. 00 67, 200
& % VEEER < 1. 0UBE (5—2) 255, 900, 00 255, 900




RifiTk -/ \vr—2

R T RO B T S MR T 5 i ST

BE:7 ¢ ) .
S EROBRE 1B (—2R) %Y
£ ;;r. B - FTA ) & o & & #© ‘ B =
EEREET (R , o -
A 1. 50 84, 800. 00 97, 200
T (A) ) - 5
A 1. 50 57, 000. 00 85,500
B ()" o
A 2.00 47, 200,00 94, 400
%85 (C)- B . N
A 2.00 38, 400, 00 76, 800
& fEsE8ER < 1. 00BR (5—2R) 363, 900. 00 353, 900
28 _ (
27 ERO%E 1EE (r—2R) %Y
: 3 o B - A Hhy B B & o B =
EEERE (G f_ o . :
A 1. 00 64, 800. 00 64, 800
B0 (A)° 3 . .
A 1. 50 57, 000. 00 85, 500
T (C) B . - .
R R A 1. 00 38, 400. 00 38, 400
Bwa - . N
A 200 33, 600. 00 67, 200
& i 1. 00E (—2X)° 255, 900. 00 255, 900
B2 Q- .
2 BEELEEE 1EE (5—2R) BU°
2 7 L B & ¥ {m & @ =
A (A) - 5 ; - .
A 1. 50 57, 000. 00 85, 500
e (B) " 5 . )
A 1. 50 47, 200, 00 70, 800
B (C) - . o .
A 250 38, 400. 00 96, 000
& & L 1.00E (5—2) 252, 300. 00 252, 300




RifiFk- L/ \vr—o

B2:10
B REORTE

S SRR N SR T SRR RS

1HE (5—2) %U

2, ffr\ i - PRI i & B g s @ =
TR (e Q . - :
A 1.00 64, 800. 00 64, 800
BEF (A) - N - .
A 1. 50 57, 000. 00 85, 500
e (C)- N N - :
) A 1. 00 38, 400. 00 38, 400
®hE - B . . .
A 1. 00 33, 600. 00 33, 600
& 3 fEEeH 1 00IEE (—2) 222, 300. 00 222, 300
B0 . .
£35  SHEORE 1B (7—2) %Y’
£ %fﬁ BHE - kTR B B O 2 @ B = ;
R () - ) - — t
A 1.50 54, 800. 00 97, 200
BB (A) ,‘ N o 5
,,,,,,, A 1. 50 57, 000. 00 85, 500
R (8) - 3 o X
A 2.00 47, 200. 00 94, 400
B (C) ) N o :
A 200 38, 400. 00 76, 800
& &t frated - 1. 00EE (5—2R)° 353, 900. 00 353, 900
&2 12" .
L ERoxE BB (5F—RX) #Y -’
2 ffr\ s - KT B & B g 2 @ =
FERET (EED , - o -
A 1,00 64, 800. 00 64, 800
B (A) ) ) . .
A 1.50 57, 000. 00 85, 500
®Em (C) - B o g
A 1. 00 38, 400, 00 38, 400
HHE . .. .-
A 2.00 33, 600. 00 67, 200
& 3 YegehEd - 1 00IER (F—X) 255, 900. 00 255, 900




Rtz - BT/ Svir—2

55358 (T B B S S B R T R T

&5:13° ) )
2F  MEEER TRHY-
% # s - ToRTE i i 8 i s #© % =
EEHRE (R , . o 5
A 1.50 64, 800. 00 97, 200
H®ER (A) - ( . o 5
A 2. 50 57, 000. 00 142, 500
®E (B) - . o .
A 2. 50 47, 200. 00 118, 000
B (C)-- ﬁ : o .
A 2.50 38, 40000 9. 000
& g fesERES < 1003t 453, 700. 00 453, 700
B2 14 X .
2 ABARERER ECUR
% # s - RTE ET & 8 s = % =
®EF (C) - N . 5
A 0. 50 38, 400. 00 19, 200
& fesEbeR 1008 19, 200. 00 19, 200
B2 .15 _
27 BEHE - 1E%Y
% ﬁn 5 - ToRTE B & @ & = " =
EHERER () b . o 8
A 1. 00 64, 800. 00 64, 800
BE (A) - = 2 . .
A 1.00 57, 000. 00 57, 000
& & fegEsen - 1,008 121, 800. 00 121, 800




RifiFR-FET/\vr—2

-

R S OB A 1 S R T S R g

&5 .16 -
B PRS- EUN
] £ w ]iE - ok B £ HOfH £ ® w =
EATREN (5 . .. - .
A .00 64, 800. 00 64, 800
e (A) " : . . .
A .00 57, 000. 00 57, 000
& &t VesaEh - 1. 008 121, 800. 00 121, 800
#217°
L BIREE HEEDRE
2 7 1Bk - kTR Hi #® B O £ @ =
AR . . .
A 00 75, 800. 00 75, 800
FFEEET (3RET) . . .
,,,,, ] A .00 64, 800. 00 64, 800
#ER (A) . . ..
A .00 57, 000. 00 57, 000
& & g 1. 00E 197, 600. 00 197, 600
#5:18°
2 BEARE 154y ¥
% i g - IkTix BAY £ -] £ # B =
EHAHRE ) . .. .
% 00 74, 044. 00 74, 044
& 3 fegthe R 100 74, 044, 00 74, 044;
B&5:19° 4 :
L8 EERESR IE=D
# i g - Eefk<hix By B H & ¥ i =
ERRERE - ) . .
% .00 95, 000. 00 95, 000
& i {esBEs 1 1. 00 - 95, 000. 00 95, 000




